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Multiplying with parentheses

How can we rewrite the expression 3y(4 – 2y) 
without the parentheses?

This means 3y × (4 – 2y).

We need to multiply every term inside the parentheses by 
the term outside the parentheses.

3y(4 – 2y) = 3y(4)

This rule for multiplying terms over parentheses is called 
applying the distributive property or expanding.

= 12y – 6y2

– 3y(2y)
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How can we rewrite the expression –a(2a2 – 2a + 3) 
without the parentheses?

Multiplying with parentheses

Watch out for cases where there is a negative term outside 
the parentheses. Be careful to take the signs into account.

–a(2a2 – 3a + 1) = –2a3 + 3a2 – a

Simplify the following using the distributive property:

= –xy – xz
2) –x(y – z) = –xy + xz
3) –(y + z) = –y – z
4) –(y – z) = –y + z

1) –x(y + z)
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Multiplying parentheses and simplifying

Sometimes we apply the distributive property to multiply out 
parentheses, then we need to simplify what’s left. We do this 
by combining like terms.

For example, expand and simplify 3x + 2x(5 – x). 

We need to multiply the parentheses by 2x and then 
combine like terms.

3x + 10x – 2x2

= 13x – 2x2

3x + 2x(5 – x) = 
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Expanding and simplifying
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Find the area of the rectangle
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Find the area of the rectangle
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Practice questions
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Card tricks 1
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Card tricks 2
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